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2. Úloha spojená s testovou položkou ID 471013:
You will hear a pupil giving a presentation about Brazil. Complete each sentence with ONE word or number. You 
will hear the text twice.
The Rio Carnival starts 51 days before ____.

Hodnocení: Úspěšnost žáků v řešení testové položky dosáhla 92 %. Testová položka zároveň vykazuje velmi 
dobrou schopnost diskriminace nejslabších žáků, přičemž vynechání testové položky nezvyšuje spolehli­
vost celého testu.

Za nejvíce obtížné lze naopak považovat testové položky, na které správně odpovědělo 
kolem 40 % žáků. Dvě testové položky s vůbec nejnižší úspěšností odpovědí žáků jsou:

1. Úloha spojená s testovou položkou ID 469139:
Choose the correct answer.
Apples and Biscuits is an oil painting by Paul Cezanne. It shows some biscuits on a blue plate and a few apples on 
a table. Cezanne did a lot of paintings with ____ apples because they are beautiful in colour.
- no article
- the
- an

Hodnocení: Úspěšnost žáků v řešení testové položky dosáhla 36 %, přičemž testová položka má poměrně 
dobrou schopnost diskriminace mezi žáky, když její vynechání nezvyšuje spolehlivost celého testu. Chybné 
odpovědi žáků se primárně pojily s výběrem neurčitého členu (40 % odpovědí žáků), relativně častý však byl 
rovněž výběr určitého členu (25 %).

2. Úloha spojená s testovou položkou ID 469117:
Read the text and choose correct answers.
Why Is China Getting Fat?
You don’t have to go to China to know how quickly it’s changing. For example, on the news we hear that young 
Chinese are more open and more individualistic than their parents. However, they are __(1)__ as well! In the past, 
China __(2)__ a very poor country and most Chinese people didn’t have enough to eat. Between the years 1959 
and 1961 almost 30 million people in China died because they had  __(3)__ to eat. These days China  __(4)__ 
good times and quite a lot of city people can live a comfortable life. The difficult history of the country and its 
standard of living at the moment explain best  __(5)__ the number of fat Chinese is so high today.  Of course, 
there are other reasons: most Chinese families have only one child, __(6)__  there are no brothers or sisters to 
share things with. It’s easy to understand that such children also eat more than they  __(7)__. As they study a lot 
to find good jobs, they have  __(8)__  time for sport. The fashion of fast food restaurants is another factor that 
makes the Chinese, especially teenagers, fat.  China is getting fat because __(9)__ getting rich. Anyway, health 
specialists worry that if the trend doesn’t stop, the number of fat and ill Chinese  __(10)__ be dangerous to the 
country’s future. 
For ____:
- heavier
- heavy
- more heavier

Hodnocení: Úspěšnost žáků v řešení testové položky dosáhla 43 %. Vynechání testové položky nezvyšuje 
spolehlivost celého testu. Chybné odpovědi žáků se nejčastěji týkaly možnosti „heavy“ (46 % odpovědí žáků).

3.1.10	 Německý jazyk – 9. ročník

Ve srovnání s anglickým jazykem si test z německého jazyka zvolil výrazně menší počet 
žáků, kteří odpovídali na 35 testových položek v případě základní verze testu a na 20 odliš-
ných testových položek v případě verze testu upravené pro žáky se SVP. Hodnota Cronbacho-
va alfa pro základní verzi testu dosahuje (0,848) ve srovnání s dalšími testovanými předměty  
a vzdělávacími oblastmi nižší hodnoty. S ohledem na nižší počet testovaných žáků jsou v této 
podkapitole reportovány pouze hlavní výsledky.




